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QUANTITATIVE APTITUDE

Directions(Q.No.1-5): Study the

following table carefully to answer
the questions that follow.
Number of Students in Six Classes

Years V VI
2004
2005
2006
2007
2008
2009
1.

of a School over the Years
VII VIIT IX X
122 112 100 125 124 116
138 124 116 126 123 120
142 136 120 128 131 121
144 138 128 133 129 121
145 143 130 139 137 124
145 144 134 146 140 128
What is the average number of
students in all the classes
together in the year 20047
(Rounded off to the nearest
integer)
a) 123
c) 144
e)138
Which is the total number of
students from all the classes
together in the year 2005?

a) 747 b) 728

c) 764 d) 735

e) None of these

What is the percent increase in
the number of students in Class
VII in the year 2007 from the
previous year? (Rounded off to
two digits after decimal)

a) 10.15 b) 5.48

c) 6.67 d) 8.93

e) None of these

Number of students in class X in
the year 2008 forms appro-
ximately what percent of the total
number of students in that class
from all the years together?
a) 19 b) 21

d) 26 e) 17

What is the respective ratio of
total number of students in class
V in the year 2006 and 2009
together to the total number of
students in class VI from the
same years?

a) 39 : 37 b) 40 : 41

c) 37:39 d) 41 : 40

e) None of these

If x2-y? =112 and x =y + 4 then
find the ratio of x to y?

a) 3:2 b) 4:3

c) 2:1 d) 5:4

e) 6:5

The circumference of two circles
1s 176 cm and 220 cm
respectively. There is a square
whose side i1s 36 cm less than
sum of the radius of both the
circles. Then, find the area of that
square (in cm?)?

b) 117
d) 109

c) 11

a) 841 b) 784
c) 676 d) 729
e) 525
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9.

10.

11.

12.

13.

14.

15.

A invested 22v2% more than Z
and B invested 20% less than Z.
If the time period of investment
1s same for all and the difference
of profit shares of A and B is Rs.
765. Then find the profit share of
A 1s how much more than that of
YA

a) Rs. 405

b) Rs. 385
c) Rs. 418 d) Rs. 425
e) Rs. 400

Ratio of still water speed of a
boat to speed of current is 3: 1. It
covers 45 km in downstream in
X hours and 27 km in upstream
in (x+Y%2) hours. Find the speed of
boat in upstream?

a) 6 km/hr b) 4 km/hr

¢) 5 km/hr d) 8 km/hr

e) None of these

Present age of father is 6 year
more than twice of the present
age of his son. Four years later,
average age of father and son
will be 34 years. Find ratio of
present age of son to that of
father?

a) 7:3 b) 2:1
c)5:2 d) 11:6
e) 9:4

A train X running at 45 km/hr
crosses a platform which is 2/3 rd
of length of another train Y in 12
seconds. If ratio of length of train
X to that of train Y is 16:21. Find
time taken by both trains to cross
each other if train Y are running
in opposite direction at 27
km/hr?

a) 10 1/2 sec b) None of these
c) 71/2sec d)9 1/4 sec

e) 8 1/3 sec

A number when increased by
87%2%, 1t becomes 89 1/3% of
another number. Find the ratio of
both numbers?

a) 12:7 b) 7:4
c) 5:3 d) 3:1
e) 94

Side of square is equal to the
length of rectangle. Area of that
square 1s 336 cm? more than the
area of rectangle. If sides of
rectangle are in ratio (length:
breadth) of 7:4 then find
perimeter of square?

a) 112 cm b) 120 cm

c) 144 cm d) 96 cm

e) 100 cm

A sum gives an interest of Rs
1980 in 6 years at 7%2% pa. on
SI. How much interest can be
earned in 4 year with 12% pa on
SI?

a) Rs 2043

b) Rs 2082
¢)Rs2112  d)Rs 2162
e) Rs 2442

Sarla bought a sandle for Rs.240.
The marked price of sandle was
Rs.360. Find the discount perc-
entage given on the marked price
of the sandle.

a) 30% b) 33 1/3%

LIC

Assistant

Numerical Ability
Special

" Also useful for Banks&
Other Competitive Exams /

d) 33 2/3%

c) 22 2/3%
e) 25%

Directions(Q.No.16-20): In the

following questions two quantities
are given for each question. compa-
re the numeric value of both the
quantities and answers accordingly.

16.

17.

18.

Ram invested Rs80000 for a year
and Shyam invested Rs72000
For 8 months.

Quantity I: If total profit at the
end of year is Rs11400 then the
share of Ram.

Quantity II: Rs. 1420

a) Quantity I > Quantity II

b) Quantity II > Quantity I

¢) Quantity I = Quantity II

d) Quantity II = Quantity I

e) Quantity I = Quantity II or
relation can't be established

24 men can do a work in 20 days
and 36 women can do the same
work in 24 days

Quantity I: Time taken by 12
man to complete whole work
Quantity II: Time taken by 16
women to complete whole work.
a) Quantity I > Quantity II

b) Quantity II > Quantity I

¢) Quantity I = Quantity II

d) Quantity IT = Quantity I

e) Quantity I = Quantity II or
relation can't be established
Average age of A, B and C is 37
years and average age of A and B
1s 23 years

Quantity I: What 1s the age of C
Quantity II: 65 years

a) Quantity I > Quantity II

b) Quantity II > Quantity I

¢) Quantity I = Quantity II

d) Quantity II = Quantity I

e) Quantity I = Quantity II or
relation can't be established

A train of length 360m is
travelling at a speed of 54 km/hr
Quantity I: Find the time take by
train to cross a pole

Quantity II: If its speed 1is
increased by 162/3% then find
the time in which it can cross a
platform of length 130 m

a) Quantity I > Quantity II

b) Quantity II > Quantity I

¢) Quantity I = Quantity II

d) Quantity II = Quantity I

e) Quantity I = Quantity II or
relation can't be established

. Quantity I: A sphere of diameter

13.4 cm 1s melted and cast into a
right circular cone of height 26.8
cm. The radius of the base of the
cone is?

Quantity II: 5.95 cm.

a) Quantity I > Quantity II

b) Quantity II > Quantity I

c¢) Quantity I = Quantity II

d) Quantity IT = Quantity I

e) Quantity I = Quantity II or
relation can't be established

Directions(Q.No.21-30): What

should come in place of question
mark (?) in the following questions?

21.

22.

23.

24.

25.

1965214 | 108.87 -2457 2= (13 Y

a) 3 b) 7

c) S d)9

e) 11
37%o0f 2+ (11)° —28.5x6+12
=31y

a) 2650 b) 2600

c) 2750 d) 2700

e) 2760

(26% of 3800+25% of 620)+=33+
4

Y

11

a) 35 b) 45

c) 25 d) 55

e) 65

811.81 + 88.11 + 0.88+1.88+18

=7

a) 920.68 b) 912.56

c) 904.88 d) 902.67

e) None of these

27.8%6+38.9%7 =2 =(13)% +1/400
a) 240.1 b) 250.1
c) 230.1 d) 235.1
e) 260.1

L)

26.

27.

28.

29.

30.
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Find the speed of boat in upstream?

19.

0.2
(4096 +J5832 )+,/289 = ()
a) 64 b) 16 c) 27
d) 2 e) 32
_30f_5 ofi2 of 2187 =?%of 400
8 27 45
a) 21 b) 23 c) 25
d) 27 e) 29
4_7 +6_5 —8_3 = ?+1_2
12 6 4 3
a) 1 b) 2
c)3 d) 4 e) S

56% of 4750 + 475% of 12- (7)*
=217

a) 40 b) 60

¢) 50 d) 45

e) 55

(87.98 + 56.64 + 123.58) - (47.6
+28.6) - 2 = (12)2

a) 42 b) 40

c) 45 d) 38 e) 48

Directions(Q.No.31-35): What

will come at the place of question(?)

mark.
31. 8 14 32 58 1247
a) 248 b) 247
c) 237 d) 238
e) None of these
32. 28,18, ?, 37,78, 199
a) 20 b) 16
c) 22 d) 24
e) 28
33. 25,90, ?, 177, 203, 220
a) 150 b) 148
c) 144 d) 140
e) 160
34. 103, ?7, 190, 247, 313, 388
a) 132 b) 122
c) 152 d) 162
e) 142
35. 21, 7, 199, 603, 1817, 5461
a) 65 b) 55
c) 45 d) 75
e) 85
KEY
D2 2)1 3)3 45 54
6)2 74 81 95 10)1
11)4 12)5 13)1 14)3 15)2
16)1 17)2 18)5 19)2 20)1
21)2 22)4 23)1 24)1 25)2
26)5 27)4 28)1 29)3 30)5
31)4 32)3 33)4 34)5 351
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